					Vendor: 708663 JRL SERVICES LLC		Vendor: 713994 DANESI OUTDOOR SERVICES		Vendor: 7139 SHAWN REED	995
Item	Product Code	Description	Quantity	Units	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
0001	99812	RETTILION ROAD TO LOS PATOS, TRASH AND IMMEDIATELY SURROUNDING AREA. JANUARY THROUGH FEBRUARY, AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK.	119	EA	11.25	1,338.75	6.00	714.00	10.45	1,243.55
0002	99812	LITTLE BEACH AREA, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA. JANUARY THROUGH FEBRUARY, AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK	18	EA	11.25	202.50	6.00	108.00	10.45	188.10
0003	99812	OTHER LOCATIONS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, JANUARY THROUGH FEBRUARY AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK	12	EA	11.25	135.00	6.00	72.00	10.45	125.40
0004	99812	ROLLOVER PASS SERVICING THE BEACH, BARRELS AND IMMEDATELY SURROUNDING AREA, JANUARY THROUGH FEBRUARY AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK	10	EA	11.25	112.50	6.00	60.00	10.45	104.50
0005	99812	HIGH ISLAND BEACH SERVICING THE BEACH, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, JANUARY THROUGH FEBRUARY AND OCTOBER THROUGH	5	EA	11.25	56.25	6.00	30.00	10.45	52.25
0006	99812	RETTILON ROAD TO LOS PATOS, TRASH AND IMMEDIATELY SURROUNDING AREA. MONTH OF APRIL, TWICE PER WEEK	119	EA	11.25	1,338.75	6.00	714.00	10.45	1,243.55

BID #: B122003 OPEN: 11/22/2011

2:00 PM

0007	99812	LITTLE BEACH AREA, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH	18	EA	11.25	202.50	6.00	108.00	10.45	188.10
0008	99812	APRIL, TWICE PER WEEK OTHER LOCATIONS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH OF APRIL, TWICE PER WEEK	12	EA	11.25	135.00	6.00	72.00	10.45	125.40
0009	99812	ROLLOVER PASS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH OF APRIL, TWICE PER WEEK	10	EA	11.25	112.50	6.00	60.00	10.45	104.50
0010	99812	HIGH ISLAND BEACH SERVICING THE BEACH, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH OF APRIL, PER WEEK	5	EA	11.25	56.25	6.00	30.00	10.45	52.25
0011	99812	RETTILON ROAD TO LOS PATOS, TRASH AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY THROUGH SEPTEMBER, TIMES PER WEEK	119	EA	11.25	1,338.75	6.00	714.00	10.45	1,243.55
0012	99812	LITTLE BEACH AREA, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH MAY THROUGH SEPTEMBER, THREE TIMES PER WEEK	18	EA	11.25	202.50	6.00	108.00	10.45	188.10
0013	99812	OTHER LOCATIONS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY THROUGH THREE TIMES PER WEEK	12	EA	11.25	135.00	6.00	72.00	10.45	125.40
0014	99812	ROLLOVER PASS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY THROUGH THREE TIMES PER WEEK	10	EA	11.25	112.50	6.00	60.00	10.45	104.50
0015	99812	HIGH ISLAND BEACH SERVICING THE BEACH, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY	5	EA	11.25	56.25	6.00	30.00	10.45	52.25

	SEPTEMER, THREE TIMES PER WEEK					
		Total of all Items:		5,535.00	2,952.00	5,141.40

					Vendor: 714003 LYONS CONTRACT SERVICE		Vendor:		Vendor:	
Iten	Product Code	Description	Quantity	Units	Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
0001	99812	RETTILION ROAD TO LOS PATOS, TRASH AND IMMEDIATELY SURROUNDING AREA. JANUARY THROUGH FEBRUARY, AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK.	119	EA	7.50	892.50	0.00	0.00	0.00	0.00
0002	99812	LITTLE BEACH AREA, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA. JANUARY THROUGH FEBRUARY, AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK	18	EA	7.50	135.00	0.00	0.00	0.00	0.00
0003	99812	OTHER LOCATIONS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, JANUARY THROUGH FEBRUARY AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK	12 G	EA	7.50	90.00	0.00	0.00	0.00	0.00
0004	99812	ROLLOVER PASS SERVICING THE BEACH, BARRELS AND IMMEDATELY SURROUNDING AREA, JANUARY THROUGH FEBRUARY AND OCTOBER THROUGH DECEMBER, ONCE PER WEEK	10	EA	7.50	75.00	0.00	0.00	0.00	0.00
0005	99812	HIGH ISLAND BEACH SERVICING THE BEACH, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, JANUARY THROUGH FEBRUARY AND OCTOBER THROUGH	, 5	EA	7.50	37.50	0.00	0.00	0.00	0.00
0006	99812	RETTILON ROAD TO LOS PATOS, TRASH AND IMMEDIATELY SURROUNDING AREA. MONTH OF APRIL, TWICE PER WEEK	119	EA	7.50	892.50	0.00	0.00	0.00	0.00
0007	99812	LITTLE BEACH AREA, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH	18 I	EA	7.50	135.00	0.00	0.00	0.00	0.00

1	1	APRIL, TWICE PER WEEK						1		
0008	99812	OTHER LOCATIONS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH OF APRIL, TWICE PER WEEK	12	EA	7.50	90.00	0.00	0.00	0.00	0.00
0009	99812	ROLLOVER PASS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH OF APRIL, TWICE PER WEEK	10	EA	7.50	75.00	0.00	0.00	0.00	0.00
0010	99812	HIGH ISLAND BEACH SERVICING THE BEACH, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MONTH OF APRIL, PER WEEK	5	EA	7.50	37.50	0.00	0.00	0.00	0.00
0011	99812	RETTILON ROAD TO LOS PATOS, TRASH AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY THROUGH SEPTEMBER, TIMES PER WEEK	119	EA	9.50	1,130.50	0.00	0.00	0.00	0.00
0012	99812	LITTLE BEACH AREA, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH MAY THROUGH SEPTEMBER, THREE TIMES PER WEEK	18	EA	9.50	171.00	0.00	0.00	0.00	0.00
0013	99812	OTHER LOCATIONS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY THROUGH THREE TIMES PER WEEK	12	EA	9.50	114.00	0.00	0.00	0.00	0.00
0014	99812	ROLLOVER PASS SERVICING THE BEACH, BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY THROUGH THREE TIMES PER WEEK	10	EA	9.50	95.00	0.00	0.00	0.00	0.00
0015	99812	HIGH ISLAND BEACH SERVICING THE BEACH, TRASH BARRELS AND IMMEDIATELY SURROUNDING AREA, MARCH AND MAY SEPTEMER, THREE TIMES PER WEEK	5	EA	9.50	47.50	0.00	0.00	0.00	0.00

BID #: B122003 OPEN: 11/22/2011 2:00 PM

Total of all Items: 4,018.00 0.00 0.00